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OUR OWN HIGH SCHOOL, Al WARQA’A, DUBAI
MATHEMATIC WORKSHOP, 2017-18

Grade 10                         
MATHEMATICS

STATISTICS
Name: ______________________________                  Grade:  ___ Sec: ___
                                                                                            Date:   10 -01-2018        
LEVEL   1                                                                                                             
    1. Write the empirical relationship between the three measures of central tendency.

    2. If median = 15 and mean = 16, find mode of the distribution                                                                                        
    3 . The median of the data is 28. Find the values of x and y, if the total frequency is 50
	Marks
	 0 - 10
	10 – 20 
	20 – 30 
	30 – 40 
	40 - 50

	No of students
	     5
	      x
	      15
	      y
	     6                     


      4. The mean of the following frequency distribution is 132 and the sum of the            observations is 50. Find the missing frequencies f1 and f2
	C. I
	0 – 40
	40 - 80
	80 - 120
	120 - 160
	160 - 200
	200 - 240

	F
	4
	7
	f1
	12
	f2
	9


    5. Convert the distribution to a less than type cumulative frequency distribution 

and draw its ogive
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Grade 10                         

MATHEMATICS

 STATISTICS
Name: ______________________________                  Grade:  ___ Sec: ___

                                                                                            Date:   10 -01-2018        
LEVEL   2                                    
1. The mode of the following frequency distribution is 55. Find the values of x and y 
	C .I
	0 - 15
	15 - 30
	30 - 45
	45 - 60
	60 - 75
	75 - 90

	F
	6
	7
	y
	15
	10
	x


2. Following is the distribution of marks obtained by 60 students: Calculate the arithmetic mean
	Marks
	More  than

0
	More than 10
	More than

20
	More than 30
	More than 40
	More than 50

	No of

students
	60
	56
	40
	20
	10
	3


3. Find the mean, median and mode of the following data                                                                                  (30, 30.67, 33.3)     

	C.I
	0 - 10
	10 - 20
	20 – 30 
	30 – 40 
	40 - 50
	50 - 60
	60 - 70

	  F
	6
	8
	10
	15
	5
	4
	2


4. If the median of the following frequency distribution table is 14.4, find the missing frequencies
 x and y ,if the sum of the frequency is 20

	Wages  ( in Rs)
	Number of workers

	0 – 6

6 – 12

12 – 18

18 – 24

24 -30
	4

X

5

Y

1


5.  Construct a more than cumulative frequency distribution table for the given

data
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OUR OWN HIGH SCHOOL, AL WARQA’A, DUBAI

GRADE: X    -    STATISTICS
LEVEL   3                                                                                     Date: 30.4.2017
1. Compute the median for each of the following data.
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 2. For a given data less than ogive and more than ogive intersect at a point P(x, y). Then                                         what does abscissa of the point represents.
 3. Following is the distribution of marks obtained by 60 students: Calculate the arithmetic mean by step deviation method  
	Marks
	More  than

0
	More than 10
	More than

20
	More than 30
	More than 40
	More than 50

	No of

students
	60
	56
	40
	20
	10
	3


4. The mode of the following frequency distribution is 55. Find the values of x and y                                        

	C .I
	0 - 15
	15 - 30
	30 - 45
	45 - 60
	60 - 75
	75 – 90   

	F
	   6
	    7
	    Y
	   15
	   10
	    X


5. Find the median by drawing its less than ogive. Also verify the result using the formula.
	Wages  ( in Rs)
	Number of workers

	More than 150

More than 140

More than 130

More than 120

More than 110

More than 100

More than 90

More than 80
	Nil
12

27

60

105

124

141

150


************

Answers:

SOLUTIONS

	LEVEL -1
	LEVEL –I I
	LEVEL –III



	Ans: 1) 3 Median = Mode + 2 Mean

	Ans: 1)   x = 7, y = 5  

	Ans: 1)  76.3  



	Ans: 2)    13
	Ans: 2)     26.5                                                                         
	Ans: 2)    median

	Ans: 3)   8, 16

	Ans: 3)    (30, 30.67, 33.3)        

	Ans: 3)    26.5                                                                    


	Ans: 4)   10, 8

	Ans: 4)    x=4, y=6 
	Ans: 4)    X = 7, Y = 5     



	Ans: 5)     graph
	Ans: 5)  graph  

	Ans: 5)  Graph, 116.67



**********

